[image: ][image: ]Monday, February 1						Thursday, February 4



[image: ]Tuesday, February 2						Friday, February 5
[image: ]


[image: ]Wednesday, February 3









image1.png
0 Weebly - Website Creatior X [ www.vyglobalcom/sat/D: X

€ - C |1 wwwivyglobal.com/sat/Downloads/sat_online_test.pdf

A) y=x+2
B) y=x-2
C) y=-x+2

1622 = 0.1, what i the value of 7
Al
B 10
€ 100
D) 1000

CONTINUE

Onume paacrice Test | Ivy Global

3 3

1£4n(n + 8) = 36, what i the product of the two Which of the following represents the solution set
solutions to this equation? to the inequality 2x + 1 297

A) —12 I ———]

= c mlas v @ \\\\é)\

924 AM
172172016




image2.png
0 Weebly - Website Creatior X [ www.vyglobalcom/sat/D: X

€ - € [ wwwivyglobal.com/sat/Downloads/:

online_test.pdf

If p=>5.5, what is the value of |p|~|1-p|? If (3x +2)(5x+ 1) = ax? + bx + 2, what is the
value of a— b7
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Leo is manufacturing | meter rulers. If the ruler
differs from the expected length by more than 1
mm, he needs to throw it away. If x is the length of
the ruler in meters, what absolute value inequality

ol represents the rulers that Leo does NOT throw
away?

A) |x-1]=001
B) |x-1]<0001

Which of the following equations best describes O |x=t|z001
the function in the figure above? D) |x-1]z0001
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1£4n(n + 8) = 36, what i the product of the two Which of the following represents the solution set
solutions to this equation? to the inequality 2x + 1 297
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B) -9
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S()=2x~ 1, and g (x) is a linear function that is
perpendicular to f (x). If (0, 4) is a point of g (x), at
what point do f (x) and g (x) intersect?
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